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f = imread('1.9pg'); ST
subplot (2,2,1),imshow (f) ; s EoRYE SR
F=fft2 (f); % {68 HEL A 46

S=abs (F) ; & 3K

NS = 255*mat2gray(S); sH—1k
subplot (2,2,2),imshow (NS); %5 fE A &
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NSF=fftshift (NS); o FHEHE

subplot (2,2, 3),imshow (NSF) ; il d o #iih &
imwrite (NSF, '3.ipg'); sTRMFEAEEIE

LL=log (1+NSF) ; SHUEL

subplot (2,2, 4),imshow (LL) ; % &ondca KA
imwrite (LL, '4.9pg"); SORAT 53¢ e RIS

3) AR EE LHP K.



5. 526 7 1
FI2ENH EHLRAR S, EA, AR 5 N, Seits S HTiE

6. ZHEHNE

=25 RGN

{5515 R4 Matlab 424 15 506

TEARBGIT R rR, AT REAEAE 22 A o ) A i R R BAR M L, S BORA EAT
VA, RS TER , o it Pl o T, 45 L PR 4 OE 44/ FR T R
7. MR T 3,

Matlab % ZEF5 7
8. SEIG R B K
1) gt RIRE
2)  SERON B AR B R B 8 FR AR
3) e s f LI AR e R ) A e R 4 2R
4) AR IAME F, SE RO R AR, IRl SR 4h



